3 X 11 = ( doxAD)+ (3. xA)=.33..
Ao 4 30, 3
4x12=(4.x40)+ (. 4. x2.)= 44
481 /23) b
9x15-( I.xA0) +(.9.x.5.) = .A35
A _f «1.0 9.
7x11=(. Foxday+ (. FEx.A4)=...72%
S0 Y 20, s
9x12-(.ff..x40)+( I.x.2)=..407
PP 90 A8.
3x15= (3. xda) + (3. x40 = . 5
40 5’ 28. AS
7x11 = (LExdo)+ (Fxd.)= el
A6 A 0. e
3x12=(3.xAd0)+(.3.x.2.)=..34.
/zo" 2 ol ‘.
8x15=(.0.xA0)+ (.8 x.8) = .40
40" N5 20 )
6x11=(.6.x.40)+(.b.xA.)=...6£
A6 40, 6.
8x12 = ( L.oxdoy+(.8.x.2)=..9€
A6 1 80 AL.
4x15 = (M. xd0)+ ( S.ox.5)=..60

Ao 5 0. do..



